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‘Movable objects’ are different — YHubmn SIRY

OVERVIEW

The & n3 differentiates between >7>°17 *2u%un, which can be acquired through 23X 1°1p,
only if they are 712102 P2%, and 7> K77 *HvH0n which can be acquired through 11p
23X even if they are not 72102 2%, Our Mo0IN will qualify the term >7°°17 “Hubon.

- ©59728 1PN 1959N 2INA 1P379) 15937 551507 22PWN XY MNNA JaR NYT DAY YV W1
The explanation of the term >7>17 *%v%vn is that they possess knowledge; this
limits the rule of *7°17 “%v%un to 2°72v who have nvy7; however cattle are not
considered moving >vbun and are, therefore, acquired through 238 371p even if

they are not piled up on the vpp -
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as the X3 relates in the first pap of WP NdO0N; a person states ‘I am giving a
plot of land the size of a nmow by a 5w to him and with this field I am also giving

him a hundred sheep’.? The recipient acquires the sheep through 23X Pip, even though
seemingly sheep are 717 “%v%un as are 0°72v. This proves that only 0°72y are considered >Pvhun
*7117 and cannot be 71121 unless they are 712102 0°7MW; however animals can be 773p1 through 1PIp
23X even though they are not P712%.

SUMMARY
0°72y are mIp1 through 23X P3P only if they are 719102 1721w; however all other >9va
0* 1 can be 73p1 through 23X even if they are not 72107 2%,

THINKING IT OVER
1. What is the 17 concerning the 117 of an jop 72v through 2iX 13p. Is it necessary
for the JupP 72V to be 712102 7AW or not?’

2. Why, concerning 23X 7°1p, do we distinguish between nv¥7 72 and not ny7 12; as
opposed to distinguishing between >7°1 and 71 X?*

3. Why does not maon cite the word 717" in his ?rinni M12°7 (after all this is the
main issue)?

' The term "0 is (usually) used to negate the simple meaning. Here too noon is negating the literal meaning of
*717 *2ubun which would include nwma.

2 It is obvious that a hundred sheep cannot be 1112% on a oY HY 1OV of YPIP.

? See "X,

* See n"m.
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